ACROSS

2x =24

2c+3 =45

2t=48

2b+37=1

3v+3=48

3y =42

Pre-Algebra Math Crossword
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2y +32=0

3y=39

3z+3=39

2 -2x=-42

4b - 32 =168

5n-(-5)=60
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l.

DOWN

2u =30

6d+3=171

Sw=125

-2b + 37 =-11

3c+3=751

S5p =60

www.mathinenglish.com

14.

2y +32=12

5t=65

3k+3=93

-5 -2r=-43

4h-32=128

5f-(-15) =120



ACROSS

. 2x=24

. 2c+3=45

. 2t=48

. 2b+37=1

. 3v+3=48

. 3y=42

Answers
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2y+32=0 . 1
3y =39 2.
3z+3=39 3.
2-2x=-42 6.
4b - 32 =68 7.
5n - (-5) = 60 8.

DOWN

. 2u=30

6d+3=171

Sw=125

2b+37=-11

3c+3=51

S5p=060
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2y +32=12

5t=65

3k+3=93

5-2r=-43

4h-32=28

5f-(-15) =120



